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Name __________________________________________________
Use the table below to answer questions 1-2.

	Quantity

(megawatts)
	Price per

Megawatt
	Total Cost

	1
	$550
	$1,000

	2
	  500
	  1,075

	3
	  450
	  1,200

	4
	  400
	  1,375

	5
	  350
	  1,600

	6
	  300
	  1,875

	7
	  250
	  2,200

	8
	  200
	  2,575


1. Lenoia runs a natural monopoly producing electricity for a small mountain village. The table shows Lenoia's demand and total cost of producing electricity. The marginal revenue of the fourth unit of production is:

a. $200.


b. $250.


c. $450.


d. $500.


e. $400.

2. Lenoia runs a natural monopoly firm producing electricity for a small mountain village. The table shows Lenoia's demand and total cost of producing electricity. To maximize profits, Lenoia should charge a price of:

a. $350.


b. $400.


c. $450.


d. $500.


e. $300.

3. A monopoly is likely to ________ units of output and ________ price than a perfectly competitive firm.

a. produce more; charge a higher


b. produce fewer; charge a higher


c. produce more; charge a lower


d. produce fewer; charge a lower


e. produce equivalent; charge a higher

4. The ability of a monopolist to raise the price of a product above the competitive level by reducing the output is known as:

a. product differentiation.


b. barrier to entry.


c. economies of scale.


d. patents and copyrights.


e. market power.

5. Because monopoly firms are the only firm in the market:

a. they can maximize total revenue, but cannot maximize profit.

b. they sell more at higher prices than at lower prices.

c. they take the market-determined price as given and sell all they can at that price.


d. they charge the highest possible price.


e. they can only sell more by lowering price.

Use the table below to answer question 6.

	Quantity of Hats Demanded
	Price

per Hat

	0
	$30

	1
	  28

	2
	  26

	3
	  24

	4
	  22

	5
	  20

	6
	  18

	7
	  16

	8
	  14


6. Prof. Dumbler has a monopoly on magic hats. He sells at most one hat to each customer, and the table shows each customer's willingness to pay. The marginal cost of producing a hat is $18. How many hats should Prof. Dumbler produce, and what price should he charge to maximize his profits?

a. 1; $28


b. 2; $26


c. 3; $24


d. 4; $22


e. 5; $20

7. One of the major differences between a monopolist and a purely competitive firm is that the monopolist has a ________ demand curve, while the purely competitive firm has a ________ demand curve.

a. perfectly inelastic; downward-sloping


b. perfectly inelastic; perfectly elastic


c. downward-sloping; perfectly inelastic


d. perfectly elastic; downward-sloping


e. downward-sloping; perfectly elastic

8. Suppose a monopoly is producing at the profit-maximizing level of output. At that level of output:

a. marginal revenue equals marginal cost.


b. marginal revenue is greater than marginal cost.


c. marginal revenue is less than marginal cost.


d. price is less than marginal cost.


e. price is equal to marginal revenue.

9. A monopoly responds to an increase in demand by ________ price and ________ output.

a. increasing; decreasing


b. increasing; increasing


c. decreasing; increasing


d. decreasing; decreasing


e. increasing; making no change in

10. A monopoly responds to a decrease in marginal cost by ________ price and ________ output.

a. increasing; decreasing


b. increasing; increasing


c. decreasing; increasing


d. decreasing; decreasing


e. decreasing; making no change in

Use the graph below to answer question 11.
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11. Assume there are no fixed costs and AC = MC. In the figure, at the profit-maximizing quantity of production for the monopolist, total revenue is ________, total cost is ________, and profit is ________.

a. $600; $200; $400


b. $1,600; $3,200; $1,600


c. $4,800; $3,200; $1,600


d. $4,800; $1,600; $3,200


e. $1,600; $800; $800
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a. If the industry is perfectly competitive, what will be the total quantity produced? At what price? 

5 produced at $10
b..
If the industry is a single-price monopoly, what quantity will the monopolist produce? Which price will it charge? 

Quantity 3    price $14
c.
Which area reflects the single-price monopolist’s profit? What price would you expect for a perfectly competitive firm? 

d.
Calculate the deadweight loss to society from single-price monopoly? 

2 * 4/ 2= $4
e.
Label which area reflects consumer surplus under single-price monopoly? 

f.
What is the total profit for this monopolist? 
Profit = TR – TC;

TR = 3 X $14, TC = 3 X $10; Profit = $42 – $30 = $12
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